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Peuenzusa

Ha coopHuk st VI pakynprera Apneiiko C.A. 3umakooii E.JI.

JlanHblii COOpPHMK MOXET OBITh PEKOMEHIOBAaH [Jisi OOyYEHHsS] UTEHHUIO
ctyneHtoB 1 kypca 6 (akynpTeTa, Tak Kak OH OTBEYAae€T COBPEMEHHBIM
METOMYECKUM KPUTEPUSIM:

1. cOOpHHMK COCTaBJIE€H Ha OCHOBE HOBEHIIECH ayTeHTUYHOW IJIUTEpPaTyphl IO

crienuanbHOCTH 6 (pakynbTeTa

2. KaX[IbIi YPOK UMEET MOAYJIBHYIO CTPYKTYPY

3. Tun OOJBIIMHCTBA 33JaHUM COOTBETCTBYET TpeOoBaHusAM KeMOpuKcKoro

sk3aMeHa (ypoBeHb FCE — Reading and English Grammar)

Peuensenr: E.N. be3pykoBa



UNIT 1.

I. Grammar Module.

1. I'maronst can (could), may (might), must, should, ought, need otHOoCcsATCS K TpyMIIE
MoaanbHbIX riarojgoB (Modal Verbs). MonanbHble T1aroisl HE YMNOTPEONSIOTCS
CaMOCTOSTEIILHO, a TOJIPKO B COYETAHUU ¢ HHPUHUTUBOM CMBICTIOBOTO TJiaroyia. OHH
0003HayalT HE caMO JEHCTBUE, a YKa3bIBAlOT HA OTHOILIEHHUE K HEMY TOBOPSILETO.
MopanbHbIE TJIAroJibl  BBIPAXKAIOT CIIOCOOHOCTh, BO3MOXHOCTH, JOIYCTUMOCT,
JTOJKEHCTBOBAHUE.

DTH TIIaroJibl 4YacTo Ha3bIBAIOT HEJIOCTATOYHBIMH, TaK KaK OHU:

1) HE U3MEHSIOTCS IO JIUIIaM 1 YHCJIaM;

2) BompocuTeNbHas ¢Gopma obpasyercs 0e3 BcroMoraTeslbHOro riarona to do,

caMm MOJAJIbHBIN TJ1aroJl CTAaBUTCSI HA MECTO Mepe]l MO IJICKAIIIM.

3) oOpa3ytoT oTpuiarenbuyio Gopmy myTém g00aBlIeHUs OTPUIIAHHS “not”.

4) nHQUHUTHUB, CACAYIOMIMA 32 ITUMU TJarojamu, ynorpeonsercs 6e3 4acTHIlbl

to, (ucxirouenue ought to);

5) He umeroT psana dopm (MHOUHUTHBA, TPUYACTHS, TEPYHIUS) U HE MOTYT

00pa30BbIBAThH CIOKHBIX MPOU3BOJHBIX (HOPM.

I[J'IH TOrO, YTOOBI nepeaarb 3Ha4CHUA HCAOCTAOIINX CI)OpM MOJAJIbHBIX I'J1IaroJioB

y1'[0Tp€6J'I$IIOTCH HNX 5KBUBAJICHTEI.

DKBUBAJICHTOM TJlarojia can sBJIsSieTCsl KOHCTPYKLHMS to be able to, skBuBaseHTOM

may- to be allowed to.
MoaanbHBbIH IJ1aroj must UMeeT ABa YKBUBAJICHTA:

a) to have to- moywkeH, TPUXOAUTCS (B CHITY CIOXHUBIITUXCS OOCTOSTEIHCTR).
I had to get up early yesterday. My lessons started at 8.15.

b) to be to- gomxeH, 00s13aH (B CBS3M C TUIAHOM, HJIM PACTIHCAHUEM).

The train is to arrive at 5 0’clock.



Summary Chart of Modals and Similar Expressions

Auxiliary | Uses Present/Future Past
may (1) polite request May 1 borrow your
pen?
2) formal | You may leave the
permission room.
(3) less than 50% —Where’s John? He may have been at
certainty He may be at the |the
library. library.
might (1) less than 50% -Where’s John? He | He might have been at
certainty might the library.
be at the library.
(2) polite request | Might I borrow your
(rate) pen?
should (1) advisability I should study tonight. |1 should have studied
last night.
(2) probability She should do well on | She should have got
the test. (future) my letter by now.
His plane should be
arriving about now
(present).
ought to | (1) advisability I ought to study |I ought to have studied
tonight. last night.
(2) probability She ought to do well | She ought to have done
on the test. (future | well on the test.
only, not present).
could (1) past ability I could run fast when I

was a child.




(2) polite request

Could I borrow your
pen?

Could your help me?

(3) suggestion

—I need help in math.
You could talk to your

You could have talked

to your teacher.

teacher.
(4) less than 50% —Where’s John? He could have been at
certainty. He could be at home. home.
(5) impossibility That couldn’t be true! | That couldn’t have
(negative only). been true.

be able | (1) ability [ am able to help you. I | I was able to help him.
to will be able to help
you.
would (1) polite request Would you please pass
the salt? Would you
mind if I left early?.
(2) preference I would rather go to the | I would rather have
park than stay home. gone to the park.
(3) repeated action When I was a child, I
in the past. would visit my
grandparents every
weekend.
usedto | (1) repeated action [ used to wvisit my
in the past grandparents every
weekend.
shall (1) polite question | Shall T open the
to make a | window?
suggestion.

(2) future with “I”

or “we” as subject.

I shall arrive at nine.

(will= more common).




Auxiliary Uses Present/Future Past

had better (1) advisability with | You had better be on | (past form
a threat of bad |time or we will leave | uncommon)
result. without you.

be supposed

(1) expectation

Class is supposed to

Class was supposed

to begin at 10. to begin at 10.
(2) General | The movie is | That movie was
recognition supposed to be great. | supposed to be killer.
(I'oBopsT, 4TO)
(3) Unsuccessful I was supposed to go
Obligation in the to the dentist, but I
past. didn’t.
be to (1) strong | You are to be here at | You were to be here
expectation 9: 00. at 9: 00.
(written of formal)
must (1) strong necessity | I must go to class |I had to go to class
(written of formal) | today. yesterday.
(2) Prohibition You must not open
(written of formal) | that door.
(3) 95% certainty Mary isn’t in class. | Mary must have
She must be sick. | been sick yesterday.
(present only).
have to (1) necessity I have to go to class | I had to go to class
today. yesterday.
(2) lack of |[I don’t have to go|I didn’t have to go to
necessity. class today. class yesterday.
(negative).
have gotto | (1) necessity I have got to go to|I had to go to class
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class today. yesterday.

will (1) 100% certainty | He will be here at
6:00.
(future only)

(2) willingness —The phone’s
ringing.

I’ll get it.

(3) polite request Will you please pass
the salt?

be goingto | (1) 100% certainty | He is going to be here
at 6:00. (future only)

(2) definite plan I’m going to paint my | I was going to paint
bedroom. (future | my room, but I
only) didn’t have time.

can (1) I can run fast. I could run fast when
ability/possibility I was a child, but
now I can’t.
(2) informal | You can use my car
permission tomorrow.

(3) informal polite | Can I borrow your

request. pen?
(4) impossibility That can’t be true! That can’t have been
(negative only) true!

Task 1.
Find the highlighted grammar element in the sentences. Translate the sentences.

1. A page outside a firewall should not be able to access the text contents of a
page that is within the firewall. 2.An unauthorized page could access the text

of the page and send it back to the server. 3. The file upload object allows a
7



user to upload filed to the server. 4. During the design phase, an extranet can
serve as a central exchange point of design-related data for the engineers. 5.
Large industrial barcode scanners may contain a much more powerful laser. 6.
They say programmers have to learn to think clearly and to be able to
demonstrate through mathematical symbols that the program cannot go
seriously wrong. 7. Additional access messages might be needed to retrieve the
component objects. 8. If you need to establish an in-house Ado training
program, get Open Ado. 9. What is the significance of the new technology, and
should engineers take the plunge? 10. An extranet management system must

have various file format translators.
Task 2.

Hlow else can we say the following?

e. g. They are supposed to do a number of computation.

1. The problem will probably be better solved by this computer.

2. To further guarantee security, the object model is likely to be limited in a

member of cases.

It is not necessary to analyses these data. We have already done it.

Possibly they finished the experiment two weeks ago.

Evidently there was something wrong with the computer.

A O

It is hardly possible in Dynamic HTML to access the dient’s machine and hard

disk beyond cookies.
7. The pages are required to be from the same domain.

Task 3.

Fill in a model or a synonymous expression in the appropriate form of the verb
in brackets.

e. g. That’s no excuse! You know you must have finished this work by today.

1. The computer has broken. You (switch if off) before leaving the office.

2. T have no new data! You (finish the experiment) a mouth ago.



3. Law firms (use) extranets to share information with suppliers and
customers.

4. We (not debug) a program.

5. Engineers (perform) the enormous number of calculations needed to
solve many advanced technological problems without computers.

6. Do you need this book? No, you  (take it).

7. The mistake the computer makes  (correct) by a programmer.

8. The problem you  (solve) next week is difficult.

Task 4.

[¢]

AN

~

. £. You shouldn’t to have told him that.
. He might have had left his diskette at home.

Find the word which should not be in the sentence.

They needn’t have to spend so much money

on buying new programs.

The client may be is waiting for us.

Would you mind if helping me with correcting the error?

You must to have follow the instruction more accurately.

An unauthorized page can have access the text of the page

and send it back to the server.

He have had to take part in our discussion yesterday.

O| 0| Q| &N | K| W N

They will not to be able to use the data.

You should be know that rendering information is more transient than parsing

information.

Task 4.

Translate from Russian into English.
1.
2.
3.

KOMITBIOTEPBI MOTYT BBINOJIHATE OYE€Hb CII0KHBIE BBIYMCICHUS.
HecaHKIIMOHMPOBAaHHBIN TOCTYN K JAHHOW MpOrpamMme J0JKEH ObITh 3aKpBbIT.
U razere cooOuaercs,, 4YTO U3paubCKas KOMIAHHs CO37alla KOMIBbIOTEPHYIO

IporpaMMmy, KOTOpasi MOKET MOJEIMPOBATh Pa3roBOP JIOJIEH.



II.

s Toro, 4toObl MOACOEOUHUTCS K ceTu MHTepHeT, HeoOXOIMMO HMETh
MOJIeM, KOMIIbIOTEP U TeNle(hOHHYIO JTUHUIO.

Bam HyXHO OBUIO KYNHUTh Cpa3y HECKOJBKO 3JIEMEHTOB, KOTOPBHIE MOLYT
peanbHO YBEIUYHUTH POU3BOUTEIBHOCTh KOMIIBIOTEPA.

Yro ’xe KacaeTcsi MAaTepUHCKOM ILIaThl, TO, BO-IIEPBBIX, OHA JOJDKHA OBITh
HaJEXHOW, BO-BTOPBIX, OHA JOJDKHA OOECIEeYMBATh MOAJEPKKY NEPEIOBBIX
TEXHOJIOTHM, 4TOOBI JTOMYCKAaThb BO3MOXXHOCTh YCTAaHOBKM U HMCIOJIb30BaHUS
CaMbIX COBPEMEHHBIX YCTPOMCTB.

[Ipexxne, 4eM KynuTh HOBBIM IIPOLECCOP CIEAYET OMPEACNUTh s ce0sl Kakue
3aa4uM OyIyT pelaThCcsl Ha BallleM KOMIIBIOTEpE.

He MoxeTt ObITh, 4TOOBI OH MOMOI' BaM CHPABUTCS € 3TOW mpobiemoil. OH He
CHELMATUCT B 3TOM 00JaCTH.

Buepa MHe mnpumuioch BCTPETUTCS C IpEACTaBUTENEM Bameill (pupmbel u

00CyAUTh HEKOTOPBIE BOIIPOCHI.

10.ITpecTynHble TPyNIUPOBKH, CBA3AHHBIE C BHIEO-IUPATCTBOM, YK€, BEPOATHO,

MOJIYYHJIA OTPOMHYIO TPUOBLIb.

II. Reading module.

Read and memorise the following terms and words of general use.

l.

script- crieHapui

to access- MoJIyduTh JOCTYII

. unauthorized-HecaHKITMOHHUPOBAHHBII

domain- JomeH, 001aCThb

. to upload- 3arpyxatp

2
3
4
5
6.
7
8
9

value property- cBOICTBO, epejaBacMoe 10 3HAUECHUIO
to expose- BBIBOJUTH (MH(OpMAIUIO)
file- manka

firewall-ceTeBoe ycTpOHCTBO 3aIUTHI

10.to upload-nepecpuiate; 3arpyxarb

III. Warm-up.

10

Try to answer these questions.



1. What is Web Security?
2. What is being done now to improve it?
Text A.
Scripting and Web Security.
With the introduction of scripting, Internet security has become an extremely
important issue.
Currently, browsers create a sandbox around the scripted page so that it can access
only a well-defined set of information. The sandbox model requires the pages to be

from the same domain before permitting unlimited access to the contents.

Even without accessing the user’s machine, however, the ability to access the
contents and manipulate a page could have been a security risk. For examples, a page
outside a firewall should not be able to access the contents of a page that is within the
firewall. An unauthorized page could access the text of the page and send it back to
the server. For example, the file upload object allows a user to upload files to the
server. This restriction prevents a document in one frame from accessing a document

in another frame if the documents come from different sites.

To further guarantee security, the object model is limited in a number of cases.
There is no way in Dynamic HTML to access the client’s machine and hard disk
beyond a very well-controlled mechanism known as cookies. To ensure that the page
does not have access to the user’s file system, the value property representing the file
to be uploaded is read-only. The history object that allows Forward and Back buttons
to be created does not expose any information about the URL- that is about to be

displayed pointed out throughout this book.

A. Read through the text again. There are three sentences which have been printed in

the wrong position. Decide which are the intruding sentences and where they should

go.

B. Match the words and expressions on the left with their explanations on the right.
1. Internet a) to control or influence

11



2. Issue b) to show some data on the screen

3. to manipulate c) a subject to be talked about, argued about or decide
4. to upload d) to send a file from one computer to another via modem
5. to display e) a global network of computer networks which facilitates

data communication services.

C. Find the sentences where modal verbs and their equivalents are used. Analyse

them.
Translate these sentences into Russian.

D. Read the following statements and decide if they are true (T) or false (F).

1. There are a lot of ways in Dynamic HTML to access the client’s machine and
hard disk beyond a very well-controlled mechanism know as cookies.

2. An unauthorized page could not access the text of the page and send it back to
the server.

3. The sandbox model does not require the pages to be from the same domain.

4. To further guarantee security, the object model is limited in a number of cases.

III. Practice Module.

One of the key advantages of HTML is its ability to automatically reflow contents
depending on their size and the size of the window. If the Web author intends to
position elements in response to the size of the window and contents, the author must
write custom layout code with script rather than rely on HTML. In general, it is easier
to author and maintain documents that use dynamic styles to take advantage of the
automatic flow nature of HTML than to write custom layout code, and writing a

custom layout manager can require a large amount of script.

Dynamic HTML exposes the information—complex as it is—necessary to create a
powerful custom layout. For each element, this information includes offset
information and the identity of the element from which the offset are calculated. To
write script that handle their own layout, you have to understand these offset

relationships.

12



Rendering information—the size and position of each element in the body of a
document—is recalculated by the browser each time the document is reflowed.
Rendering information is therefore much mire transient than parsing information,
which includes the attributes, styles, and contents defined for the elements in the
source document. The distinction between the values provided by the document and

the rendering values calculated by the browser is important to understand.

For example, an element might be defined as having a width value of 20% and an
unspecified height. The 20% value as well as its pixel equivalent are exposed through
the style property. However, the height value is not exposed through the style
property because it is not defined.
When the browser renders the element, it calculates a height and exposes it as a
separate property. In addition, the browser calculates and exposes the top and left
positions of the element; these values are not always the same as the top and left
values using CSS positioning.
Notes:
HTML- s3bIK TEKCTOBOM pa3METKH
URL- yHuuumnpoBaHHbIi aapec pecypca

1. Read the text. Find modal verbs and their equivalents, analyze them.

2. Pick out some key words or phrases to express the main idea of each

paragraph. Write them down info your notebook.
3. Now try to develop each of the phrases or words using as many details as you

can remember.
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UNIT 2

[. Grammar Module.

Hpn;[aTquHe MNpCIIOKCHNA YCIOBUS COCAUHAIOTCA C TJIAaBHBIM IIPCIIOKCHHUEM

cotozamu if ecnu, unless ecnu... He, provided (that), providing (that), on condition

(that) mpu ycioBuM eciu, TpU YCIOBUU 4TO, supposing (that), suppose (that)

IMPCAIIOJIOKUM YTO:

Takue nmpuaaToyHbIe NMPEIIOKEHUS BBIPAXKAKOT YCIOBHE, 4 IJIaBHBIE NPEII0KEHUS

— CJICACTBUC, BLITCKAIOIINUC U3 3TOI'0 YCIOBHUA.

THIBI YCIOBHBIX MPEIIIOKEHUN

YcnoBHas 4acThb I'maBHOE nipeIo)KEeHUE

Ynorpebnenue

ITepBeiii  Tun | If + Present form (Present S. |Future/Imperative can/may/ | PeanpHoe ycnmoBue

YCIIOBHOTO Present Cont., Present Perf.) might/must/should+inf/ | BeIpaxkaer

npeioxxkenust | Present Simple 3aBUCUMOCTh

(Type I) OJIHOT'O JEUCTBUS OT
Examples. Ipyroro B
If the weather is nice, we will go for a walk. HAaCTOSIIIEM WIn
If you have translated the article, you may have a break. | Oyaymiem BpemeHu.
If you don’t know the answer, ask your brother.

Bropoit tun | If + Past Simple or Past would/could/might + | ManoBeposiTHbIE

YCIIOBHOTO Continuous infinitive | IpeAnoioxeHus,

MIPEUIOKEHUS OTHOCALIHECS K

(Type II) Examples. HacToseMy WM

If I were you, I would not speak about it.
If we won a large sum of money in a lottery, we would

buy a car.

Oy nyuemy
BPEMCHU; MOT'YT TaK
XKe BBIpAXATb

COBCT.
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Tperuit tun | If + Past Perfect or Past would/could/might + | Hepeanbubie
YCJIOBHOTO Perfect Continuous infinitive | mpeAmnoI0KeHus,
TIPETOKCHHS OTHOCSIIUECS K
(Type III) IIPOLIEAIIEMY
Examples. BPEMEHU; TaK ke

If the had put on a warm coat, he would not have | Beipaxator

caught cold. COXXaJieHue  TI0
If you had given me more time, I might have | noBoxy 4ero-
made a better report. 1160 Wi
KPUTHUKY  Yero-

m10o0.

beccoro3nbie YCJIOBHBIC ITPCIJIOKCHUA.

YcnoBHBIE TIPEATIOKEHHSI MOTYT MPUCOCIUHATHCS K TJIaBHOMY M 0e3 coro3za. DTo
BO3MOXHO TOJIBKO MPU HAJTUYUKM BCIOMOTATEIBHOTO Tjlaroia, KOTOPbIA CTaBUTCS Ha
nepBoe mecto. Hanpumep:

If I were you....

Were [ you....

If we had read...

Had we read...

If he could ring tonight....
Could he ring tonight...
Examples.
Should he win the race, he’ll be very happy.
Had not he left his diskette at home, he could have finished his work yesterday.
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CmermaHHbIN TUIT YCIIOBHBIX MPEIOKEHUM.

HHOFI[a YCIOBHUC MOKET OTHOCHUTHLCA K IIpomeAmeMy BpPEMCHH, a CICIACTBHUC K

HACTOSIILIEMY WIH OyayuieMy, uid HaoO0opoT. Torma Mel UMeeM ‘‘CMEIIaHHBIN TUI

YCJIOBHOT'O ITPCAJIOKCHUA.

If you had done the translation yesterday, you could go to the cinema with us.

If he were a good programmer, he would have coped with this problem.

Task I.

Put the verbs in brackets into the correct tense, then identify the types of

conditionals.

1.

6
7
8
9

If you ring (ring up) Nick, remember me to him.

2. Ifyou.... (check) the data, you will find everything in order.
3.
4

We shall be late unless we... (go) much faster.

. If a computer ...(program) to do something, it contains instructions to do it in

his programs.
If you ... (not/know) the HTML language, you could not use a Web page

editor to simplify the process.

. If he had refered to a reliable source of information, I.... (believe) him.
. If data processing.... (do) in two hours, we’ll have to work until late at night.
. If I were such a gifted person as Ann, I.... (study) much better.

. L.... (take) his words for granted, if I were you.

10.We wouldn’t have been able to do it unless you.... (write) a program for us.

Task 1II.

Rephrase the following sentences in as many ways as possible, using the

words below.

I.

16
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Technology changes so fast! Should you wait for new technology, you will

never purchase anything.



2. Could he say beforehand, we would attend the annual computer exhibition.

3. Had you made this experiment last year, you might have had an award.

4. Go to a psychologist, he will help you overcome the difficulties you’re having
now.

5. Keep the screen clean to prevent distorting shadows.

Task I1I.
Rewrite the following sentences omitting “if”. If I had wet him yesterday, I
would have
talked to him.
Had I met him yesterday, [ would have talked to him.

1. If you work in a room with a lot of computers, don’t sit too close to the sides or
backs of the monitors.

2. If the device were repaired, it would be set in motion immediately.

3. If the original metaphor had not been rwersed by psychologists, we wouldn’t
speak about the computer as a brain.

4. If I were you, I would use this formular.

5. If you keep fit, you’ll be able to resist disease and stress.

Task IV.
Translate sentences from English into Russian, identify the types of

conditionals.

1. If you spend a lot on hot spot then you don’t make any money.

2. If you’re going to have that coverage wherever you might be, why would you
need a hot spot?

3. If Brazil agreed to high tariffs against imports of illegal computers, the
smugglers would stop to make a living.

4. If the value had been greater or smaller than a certain value, the investor would
have asked about the prices of other stocks.

17



5. If a company’s data is stored remotely on large servers, it will be less secure
than if it were stored internally behind the company’s firewall.
6. If the proper architectures are not in place, it would be secure.

7. If I were you, I would not have XT- formated keyboard.

Task V.

Translate from Russian into English.

a) Kakx MogepHH3upOBaTh KOMIBIOTEP?

Oto Bompoc Quiocodckuit. Ecim Bbl x0T Obl HEMHOro pa3z0upaerech B
KOMITBIOTEPAX, MOAECPHHU3ALMs MAIIMHBI HE COCTAaBUT Ui BaC HUKAaKoro tpyna. B
IOPUHIMIE, COBPEMEHHAs KOMIIBIOTEpHAs TEXHHKA BBIIOJHEHA C  Y4YETOM
YCTOMYMBOCTH OT HENPaBUWIBHBIX JedcTBUWA. Ecim Bbl c1ab0 3HAKOMBI C
KOMIBIOTEPOM, TO JIydllle OOpaTuTech K cleuuaguctaMm. Bo-mepBbix, 10
COOOpaKEHHUSIM IKOHOMHHM BPEMEHU, BO-BTOPBIX, €CIU MOMNalIach HEKAYECTBEHHAas
JeTallb, TO €€ 3aMEHST MPsAMO NMpU COOpPKE, U BaM HE NPUAETCS TPATUTHb BPEMs U
HepBbl. Eciin ke BbI pelniIM NpocTO MOMEHATh KaKoe-TO U3 yCTPOWCTB B paboueM
KOMIIBIOTEpE, Jy4lle B3AThCS 32 OTBEPTKY CaMOMYy, OJlaro Cenarbh 3TO COBCEM HE

CJIOXKHO.

b) 1. Eciu 661 MBI paGoTanu ¢ muppoBBIM 3BYKOM WU C BUIEO, TO MBI ObI
KyIOWIA BHHYECTEp KaKk MOXXHO Oojpiiero o0béMa M 00JaJarouuii
HAWTYYIIUMHU CKOPOCTHBIMHU XapaKTEPUCTUKAMH.

2. Ecnu KoMmploTep emE He cTap, HO €ro MpOM3BOAUTEIBHOCTH YK€ HE
XBaTaeT Ul KaKuX-TO 3a7ad (B OCHOBHOM WIp), NOKYNaWTe KOMIUIEKTYIOLIUE
10 OT/AETIHHOCTH.

3. Ecnu GBI xakephl HE B3JIOMAJIM CHCTEMY 3alllUThl, 0aHW HE MOHEeC Obl TaKue
yOBITKH.

4. Eciu Obl TEXHOJOTHS BUPTYalIbHOW peambHOCTH OblIa CEeroaHs Ooiee
JOCTYIHA, MHOTHE JIFOJIU MOTJIM OBl ITOJIB30BATHCS €IO.
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5. Yto nenath, €ciivi BOZHUKHYT MPOOJIEMBbI B CETH?

6. Eciim Obl TBI ObUT BHHUMATENbHEE, ThI Obl HE MOMyCTHI cOOsi B paboTe

MalllUHBI.

7. Eciin 0661 00paboTKa JaHHBIX ObLIa CAEIaHa BY€pa, CEroJIHsd Mbl CMOIJIA Obl

MpcaCTaBuUTb OTUCT.

II. Reading Module.

I. Read and memorize the following words.
familiar [fo'miljo] xopo11o 3HAKOMBIH.
memory ['memori] mamsTh
to store [st] xpaHuth
data (sing datum) [] undopmarus
brain [brein] mo3r
to retrieve [ri'tri:v] oCyIecTBIATh BEIOOPKY, HAXOIUTh
to remember [ri'membo] HaxXoAUTh, BCIIOMHHATH
psychologist [] mcuxosor
gifted ['giftid] cmocoOHbIi, otapEHHBIIM
processing [] oOpaboTka
skill [skil] ymenue
warm-blooded [] TemIokpoBHBI
to reverse [r1'va:s] UBMEHSATH
to refer [r1'fa:] roBoputh (0 UemM-1100)
input ['input] BBOI
substantial [| 3HaunTENBHBIN
to program ['prougrom| cOCTaBJISITh IPOrPAMMY
to contain [] cogepxath

to resist [ri'zist] TPOTUBOCTOSTH
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II. Warm-up.

1. Can you give the definition of the word “culture™?

2. If'you can, then try to guess what may the phrase “computer culture” mean?

III. Reading.

A. Read the text below and compare your answers with the text.

Text A.

“Computer culture”.

Let’s look at some familiar words. Take memory. Computer scientists first used
memory in the 1940s to describe the place where a computer stores its data and
programs. They were using a metaphor- - one thing (the workings of the computer)
was described in terms of another (the human brain):

The computer stores this data within its memory, where it can be retrieved at
anytime.

So, a computer has a memory, but it doesn’t remember. Instead, it retrieves from its
memory. This new combination of words is also appearing in non-computing context.
Here, a psychologist talks about what it means to be very clever:

The gifted person has superior information processing skills. He or she can retrieve
from memory, for example, the word for warm-blooded animals more quickly than
others.

Today, psychologist often describe the brain as if it were a computer. They have
reversed the original metaphor, where it was the computer that was a brain. It’s
become common in education today to describe learning and understanding as
processing. The data that’s processed in the classroom is often referred to as input,
just like material we type into a computer.

There’s quite substantial reading input for the candidates who are doing the
exercise.

So learners are information processors little computers.
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If a computer is programmed to do something, it contains instructions to do it in its
programs. As a result, it will do it automatically. Today, we talk about the reactions
of the body as programmed:

The body is programmed to resist disease and stress over periods of time.

B. Match the terms in the box with the explanations below.

a) familiar c) to store e) to retrieve g) processing

b) memory d) brain f) input h) to resist

1. the part of a computer in which information can be stored. |

2. putting information into a computer for examination. |

3. the process of transferring information into the memory from some peripheral unit.
i

4. the organ of the body in the upper part off the head, which controls thought, feeling
and physical activity. [

5.to oppose. |

6. to find and bring back. |

7. generally known; common. |

8. to keep a supply of something for future use. |

C. Insert the correct preposition.
1. One thing was described terms of another.
The data that’s processed in the classroom is often reffered ~ as input.
The computer provides us plenty of new information.
We were told you were looking ~ anew job.

Perhaps system is the key word behind all those we’ve looked

A O

The result of our mutual work depends your responsibility.
(with, in, at, on, for, to).

D. Translate the following expressions into Russian.
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a) In terms of; term of office; university term; terms of payment; on terms; technical
terms; in terms of money.
b) Store; a store of food; a store of money; to set no store by; what the future holds
in store for us?; I have a surprise in store for him; store is no sore.
E. Answer the questions to the text.
1. When and for what purpose did computer scientists first use memory?
2. A computer has a memory, but does it really remember? What does it do?
3. So, computer scientists used a metaphor. Can you give the definition of it?
4. Can you give some examples used in the text?

5. What are examples of a reversed metaphor?

I1I. Practice Module.

1. Read the text.

The computer is providing us with plenty of new metaphors. But this isn’t the first
time technology has done this. Things to do with machines are common metaphors: I
broke down

The govemment is pumping money into the industry.

Metaphors can also produce new meanings from old words. Take network. In
computing, a network is a group of computers in different places that are
interconnected. They share information and communicate with each other. We also
use network to describe making informal contact at social gatherings with people
who might be useful to you. It’s now a verb:

Science she’s started looking for a new job. Diana has been spending a lot of her
evenings networking.

And a new word, networker, has come from the network metaphor. This means
someone who networks.

Perhaps system is the key word behind all those we’ve looked at. In computing, it’s
the total of all the things that make up the working unit. In the system everything is

interconnected. One component depends on all the others to work. We use system to
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refer to many things today. To our bodies: immune system, nervous system, digestive
system; the key institutions in our society: legal system, justice system, political

system and the economy: monetary system, banking system, trading system.

2. Complete the sentences using the content of the text.

a) The computer is providing us with

.......

b) Metaphors can produce new meanings.....
¢) In computing, a network is

d) We also use network to discribe

......

e) In computing the word system means

f) In everyday life we use system to...... , namely......

3. Summarize the article.
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UNIT 3.

Grammar Module.

Infinitive.

[T |Active Passive

Indefinite To use To be used
Continuous To be using —
Perfect To have used To have been used

Perfect Continuous To have been using —

CnocoOBbl IIEPEBOAa HA PYCCKUU S3bIK.

1. HeomnpeneneHHoN popmoii (MH(DUHUTUBOM)
CYLLECTBUTEIBHBIM B JIIOOOM MaJExKe

NEENPUYACTUEM C “‘HE”

Ll

rJIaroJioM B JUYHOU (opme (CKazyeMbIM), KOTOPBIM BXOAUT B COCTaB

MPpUAATOYHOTO IIPCIAJIOKCHUA.

DVyHKIINY B IIPEJUIOKEHUN:

1. mogexariee (subject).

To use speech as an interface between | Micrionb3oBaTh (MCHIOIB30BaHUE) PEUH B
humans and machines is quite real now. | kauectBe uHTepderica MeXAy JTHOIbMU
(It 1s quite real to use speech as an | u ManIMHAMH BIIOJIHE peaJIbHO ceivac.

interface  between  humans  and

machines).
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2. Yactp ckazyemoro (part of Predicate).
a) Our task is to use speech as an
interface between humans and
machines (cocTaBHOE UMEHHOE).

b) We must use speech as an interface
and  machines

between  humans

(cocTaBHOE TJIAr0JILHOE)

3. Onpenenenue (attribute).

Software to be wused for speech
recognition is produced now by a

number of companies.

4. JIonOJIHEHHUE.

a) This software unable (us) to use
speech as an interface between humans
and machines.

b) This interface makes (it) difficult to

usec.....

5. OOCTOSTENBCTRO.
a) (In order) to communicate with
computer you can use speech as an
interface.
b) This computer is powerful enough to

process these enormous data for short

a) Hama 3agava- ncnosib30BaTh peyb B
KauecTBe uHTepdeiica Mexay JIoAbMU
Y MalllMHAMM.

b) MBI OJKHBI MCTOJIB30BATh pPEeYb B
KauecTBe uHTep(deiica Mexay JIoAbMU

1 MallIMHaMU.

[Tporpammuoe oOecrieueHue,
UCTIOJIb3yeMoe (KOTOpOE MCIIONb3YyeTCs
(Hamo

UCIIOJIb30BATh)) TUTST

paciio3HaBaHusA peyn, BBIITYCKACTCA

cerlyac LeIbIM PSIOM KOMITAHUH.

a) DTo mporpaMMHOe o0ecreueHue JaeT
(HaM) BO3MOXHOCTh MCIOJIb30BATh PEYb
B KauecTBe MHTEpdeiica MeX Ty JTHOIbMU
Y MaIlnHaMHU.

b)

UCIIOJIb30BaHue (MCIOJIb30BATh).

OTOoT  MHTEpdehc  3aTpyAHsET

4TOOBI

a) ([

06HIaTI>C$I C KOMIIBIOTCPOM, BbI MOKCTC

TOTO) aJIeKBaTHO

HCIIOJIB30BaTh pe€Yb B Ka4yCCTBEC

uHTEpPeEiica.

b) DTOT KOMIBIOTEp  JOCTATOYHO
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time. MOIIHBIM  4TOOBI ~ 00paboTaTh ATy
IPOMAJHYI0 TI0 00BEMY HH(OpMAIHIO

3a KOPOTKOC BpEMs.

Task 1.
Find Infinitive in the following sentence Determine its form a function.

Translate into Russian:

1. Engineers have strong desire to make computers behave like human-being.
Most people can speak about five times faster than they can type.

We do not have to touch or see anything to carry on a conversation.

S

These virtual-assistant serves allow users to houest news and even listen to e-

mail over the telephone.

5. To realize Oxygen project means to use more advanced speech-recognition
system.

6. To grasp the meaning of spoken words the traditional technology of speech-
recognition must be added by language-understanding software.

7. The technique to be used in this solution decision is called brain-storming.

8. To clarify mistakes is to ask question about confusing words.

9. To clarify mistakes the machine usually asks questions about confusing words.

Task 2.
Paraphrase the 2™ sentence using Infinitive instead of the emphasized words.

Your designed sentence should have a similar meaning to the first one.

a)
1. System which is used to convert audible signals to digital signals is called

speech recognition system.
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b)
1. For buying up-to-data computer you can go to various computer stores found

actually in any big town.

1. Turning information to well-formed sentences won’t take you much time if

you use Oxygen programme.

d)
1. The problem which has been solved by our team deals with language-

understanding programme.

1. For being engaged in a dialogue with the user the machine must be able to

clarify mistakes.

1. Now days you can use telephone for listening to e-mail.

Task 3.
Look carefully at these sentences. Some are correct, some-not. Find and correct

the mistakes.

1. To act like a human assistant, the machine must have understood speech.
2. The variety of tasks to accomplish by the computer should be put in by oral
commands.
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3. To incorporate into portable unit, keyboard shouldn’t be bulky.

4. We don’t have know all the matched domains of knowledge in this spheres.

5. They admit to make a similar mistake in their earlier experiment.

6. He confirmed to sent an urgent message by his collaborator.

7. This system must to draw data from different information domains.

8. The target of our team to develop new speech-recognition applications.

Reading Module.
Task 1.

Read and memorise the following terms and words of general use:

1. commonly= usually

2. science-fiction- Hay4yHast (haHTacTHKA

3. to behave- Bectu cebs

4. fast=quick, rapid

5. times- pa3bl (MCUUCIISIEMOE CYIIECTBUTEIBHOE)

6. to touch smth- kacaTbcs yero-n1ubo

7. to carry on= to conduct

8. speech-based interfaces-  wuHTepdelchl, pacmo3HAOIUME  BBOJUMYIO
uH(MOpMAIHUIO ¢ ToJI0Cca

9. high-performance=with advanced characteristics
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10.speech-recognition software- mnporpamMmmHoe oOecrieueHUEe paclo3HaBaHU

YCTHOM peuH

11.to enable- maBaTh BO3MOXXHOCTH

12.transactions- mpuém 1 00pabOTKa 3ampoca; Bbljaua OTBETHOTO COOOIIECHMUS

13.to enter= to put it

14.to request- nenate 3anpoc

15.far more= much more

16.notion- moHsATHE, IPEACTABICHUE

17.to convert smth to smth- npeoOpa3oBsiBaTh



18.to grasp the meaning= to understand
19.to verbalize= to put into word
20.throughout= from end to end of

21.to clarify= pa3psacusaTe= to make clear

Task 2.
Warning-up activity. What do you think of the following: “Will computer be

able to understand us if we speak to it?”

Task 3.

Read this article and choose the best answer (A-D) for questions.

Talking with Your Computer (Part 1).

For decades, science-fiction writers have envisioned a world in which speech is the
most commonly used interface between humans and machines. This is partly a result
of our strong desire to make computers behave like human beings. But it is more than
that. Speech 1s natural— we know how to speak before we know how to read and
write. Speech is also efficient- most people can speak about five times faster than
they can type and probably 10 times faster than they can write. And speech is
flexible- we do not have to touch or see anything to carry on a conversation.

The first generation of speech-based interfaces is beginning to emerge, including
high-performance systems that can recognize tens of thousands of words. In fact, you
can now go to various computer stores and buy speech-recognition software for
dictation. Products are offered by IBM, Dragon Systems, Lernout & Hauspie, and
Philips. Other systems can accept extemporaneously generated speech over the
telephone. AT&T Bell Labs pioneered the use of speech-recognition systems for
telephone transactions, and now companies such as Nuance, Philips and
SpeechWorks have also entered the field. The current technology is employed in
virtual-assistant services, such as General Magic’s Portico service, which allows
users to request news and stock quotes and even listen to e-mail over the telephone.
But the Oxygen project will need far more advanced speech-recognition systems.
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I believe the text generation of speech-based interfaces will enable people to
communicate with computers in much the same way that they communicate with
other people. Therefore, the notion of conversation is very important. The traditional
technology of speech recognition—which converts audible signals to digital
symbols—must be augmented by language-understanding software so that the
computer can grasp the meaning of spoken words.

On the output side, the machine must be able to verbalize; it has to take documents
from the World Wide Web, find the appropriate information and turn it into well-
formed sentences. Throughout this process the machine must be able to engage in a
dialogue with the user so that it can clarify mistakes it might have made—for
example, by asking questions such as “Did you say Boston, Massachusetts, or Austin,

Texas?”

1. What did science fiction writers suggest speech to be? :
a) a loot for human-to-human communication.
b) aloot for presenting data by a computer
c) aloot for sending messages via Web?

d) aloot for exchanging information between users and computers.

2. What does speech is flexible mean?
a) we can use any kind of words while speaking?
b) We needn’t have something we are speaking about just in front of us?
c) We can exchange any kind of information with our addressee?
d) We can use a lot of information sources while speaking.
3. What means of speech communication with computers is available now?
a) dictating data to the computer?
b) Talking to a computer by phone?
c¢) Chatting with your computer via conventional interface?
d) Dictating data to the machine using some specific software and speaking

by phone with it through some assistant service?
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4. When will we say that computers are able to communicate with people in
much the same way that people communicate with each other:

a) when computers are able to do both understand what users mean while
speaking to them and express in words their reply?

b) When computers are able to grasp the meaning of digital symbols?

c) When computers are able to do both to express in words their reply to
the user and clarify ambiguities in users speech?

d) When computers are able to miss the stage of converting audible words

to digital symbols?

Task 4.

Find the words or phrases in the 4 paragraphs of the text which mean:

Paragraph I:
1. imagined:
2. easily changed to suit new conditions:
Paragraph II:
3. to appear, to become known:
4. with advanced performance:
5. to speak without notes or preparation:
6. message exchange via telephone:
7. province or department of study or activity:
8. services helping in fact:
9. shares prices:
Paragraph I1I:
10.to share or exchange news, information, etc
11.increase
12.using digits
Paragraph 1V:
13.to take partin:
14.the world Wide Web:
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Practice Module.

Task 1.
Read carefully the following text and find all the Infinitives in it Determine its

form and function in a sentence. (There should be 11 of them)

Speech recognition would be an ideal interface for the handheld devices being
developed as part of the Oxygen project. Using speech to give commands would
allow much greater mobility—there would be no need to incorporate a bulky
keyboard into the portable unit. And spoken language would enable users to
communicate with their devices more efficiently. A traveling executive could say to
his or her computer, “Let me now when Microsoft Stock is above $160.”

The machine would act much like a human assistant, accomplishing a variety of tasks
with minimum instruction.

Of course, several research problems still need to be addressed. We must create
speech-recognition application that can handle many complex domains of
information. The systems must be able to draw data from different domains—the
weather information domain, for example, and the flight information domain—

without being specifically instructed to do so.

Task 2.
Make a precise translation of the text. Write it down take you no more than 23-

25 minutes. Use English-Russian dictionary if necessary.
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UNIT 4.

Grammar Module.

Infinitive Constructions

Complex Subject

CrnoxHoe moanexamuye ¢ WHOUHATABOM COCTOMT M3 2-X KOMIIOHEHTOB:
CYLIECTBUTENILHOTO B OOIIEM MaJeXe WIN JIMYHOTO MECTOMMEHHUs + HH()UHUTUB.
DTOT eAMHBINA WICH NMPEeIOKEHUS KaK - Obl “pa3pblBaeTca’ Ha 2 YaCTU CKa3yEeMbIM,
KOTOpO€, KaK MpaBWIIO, yHOTpeOssieTcss B cTpajareabHoM 3anore. CBs3b MEXAy
TaKUM TOJIJICKAIIUM U CKa3yeMbIM TOJIbKO (popMajbHasi MO CMBICIY OHU HE UMEIOT
Ipyr K Apyry Hukakoro oTHoweHus. CyuiecTByeT 2 croco0a mepeBoja TaKuX
KOHCTPYKILIMHI Ha PYCCKUU SA3BIK:

Galaxy system is said to have 5 main functions.

He was considered to be best student in our group.

1. T'oBopsT, uto cuctema “I'anakTHUKK” UMEET 5 OCHOBHBIX (DYHKIIHIA.

2. Cucrema ["amakTHka, Kak FOBOPST, UMEET 5 OCHOBHBIX (DYHKIUH.

1. CuuraroT, 4TO OH - JIy4IIMHI CTYIEHT B HAlIEH TPYIIIIE.

2. OH, KaK CUUTAIOT, - JTy4IlIUA CTYJICHT B HAIlIE¥ TpyIIIe.

Crnoxunoe mopanexamye ¢ WHOUHUTHBOM MOXET YIOTPEONATbCA B MPEIJIOKECHUU

Koraa B Ka4CCTBC CKa3yCMbIX HCITIOJIB3YIOTCA TAKUC I'JIaroJibl, KaK:

to believe- cuntath BEpHBIM, TIOJIaraTh YCIOBHO
to consider- mojaraTth, CYUTATh

to assume- I0IIyCKaTh

to expect- 0)KUIaTh, I10J1araThb

to find- HaxXOaUTH, CUUTATH

to know- 3HaTH
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to report- cooO1aTh

to say- TOBOPUTH

to state- yTBepKIaTh

to suppose- nmpeamnoaaraTb
to think- mymaTs, monararsb
to understand- moHIMaTh

WNnu cnoBocoueTaHus:

to be likely (unlikely)- BeposiTHO (ManoBEpOATHO);
to be sure

to be certain ] HECOMHEHHO

Buumanue! CymiecTByeT HECKOJIBKO TIJ1arojioB, KOTOpbIE YHOTPEONSIOTCS B
JNIEUCTBUTEIILHOM 3aJI0TE:

to prove- oka3bIBaThCA (B KOHEYHOM CUETE)

to appear- oKa3bIBaTbCA

to turn out- okazaTbcs (HEOKUIAHHO)

to seem- KazaTbCs
These research problems still seem to be unsolved.

Ka;xeTc;[, YTO 3TH UCCICAO0BATCIILCKHC Hp06HeMI>I eme He PCUICHBI.

Task 1.
Find Complex Subject with the Infinitive in the following sentences. Give all possible
ways of translating them into Russian. Pay special attention to the form of the

Infinitive.

1. Such machines are said to be rather intelligent.
Who is believed to have developed this programme?
The user’s query proved to have been answered wrong.

Multiple customers seem to use this server for their own needs.

U

He is here to have asked rather computing question.
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. He is here to have been asked rather computing question.

6
7. Is this system suggested to be able to retrieve data from different domains?
8. The programme didn’t prove to manage to parse the sentence into its parts.
9. It turned out to have taken place at several sports simultaneously.

10.Delays in downloading data from the Web aren’t thought to happen so often.

Task 2.
Paraphrase the first sentence using Infinitive of the highlighted verb. It
should have a
Similar meaning to the 1* sentence. (Pay special attention to the form of the

Infinitive).

a)
1. It is suggested that speech is used as an interface between humans and

machines.

b)
1. It is known that IBM, Dragon System, Philips and some others develop and
market

speech- recognition software.

1. It turned out that ATaT Bell Lab has pioneered the use of speech-recognition

system for telephone transactions.

1. It is sure that weather forecasts can be accessed over cellular phone.

1. It is unlikely that user’s query wasn’t answered.
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f)

1. It appeared that data having been downloaded to our computer contained a

virus.

Task 3.

Fill in the gaps with the appropriate words so that the second sentence had a
similar

meaning to the first one. You can 2-5 words including that of the suggested

one.

a)
1. It 1s said that you can access Galaxy using both a phone and an Internet-
connection to access.
2. You using both a phone and an Internet connection.
b)
1. It 1s stated that distributed architechure means that all the computing takes
place on remote servers.
2. Distributed architechure that all the computing takes place on
remote servers.
c)
1. It is unlikely that this system can handle multiple users simultaneously is.
2. This system to handle multiple users simultaneously.
d)

1. It is known that weather forcasts and flight schedules are the domains of

knowledge with which speech-recognition software can deal with.
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Reading Module.

Task 1.

Read and memorise the following terms and words of general use.

1. unfortunately- k coxkanenuro

2. terribly- yxacHo

3. to deal with= to be concerned with- OBITH CBA3aHHBIM, OTHOCHUTCS K. ..
4. domain= a field of thought or activity- o61acts, chepa

5. up-to-date= of the latest kind

6. remote= at a distance- IUCTAaHIIMOHHBII

7. to retrieve smth from smth- ygansars, BBIBOOUTE U3

8. query- 3ampoc

9. simultaneously=at the same time- oJHOBpeMEHHO

10.1ast but not last- mocieaHee, HO HE MEHEE BAXKHOE
11.to match smth to smth- mogbupats 4-11 K 4-11
12.phonemes- ¢ponemsl

13.irreducible- npenenbHbIil, MUHUMaIbHBINA
14.ranked- paHIICHpOBaHHBIM

15.t0 guess- noraapiBaThCA

16.to parse- nenaTh rpaMMaTHYECKUNA aHAIIA3
17.to turn smth into smth- npeBpaTuTh Y- B 4-I1
18.synthesizer- cunrezarop

19.to download data to- 3arpyxaTh JaHHBIE B...
20.to discount- genaTh CKHAKY Ha...

21.semantic frame- cemanTuueckoe opopmiieHre

22.distributed architecture- pacnpenenéHnnas apXuTekTypa

Task 2.

Warming up. Has speech-recognition software been already developed? Do

you know anything of such programme products?
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Task 3.

Read this article from ‘Scientific American’ dealing with the problem of

speech-based communicating with computers. Choose from paragraphs (A-E) the one

which fits each gap (1-4). There is one extra paragraph which you do not need to use.

Talking with your computer.

L.
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. We at the M.L.T. Laboratory for Computer Science have spent the past decade

working on systems with this kind of conversational interface. Unfortunately,
the machines developed so far are not terribly intelligent; they can deal only
with limited domains of knowledge, such as weather forecasts and flight
schedules. But the information us up-to-data, and you can access it over the
telephone. The machines are capable of communicating in several languages;
three to which we pay the most attention are American English, Spanish and

Mandarin Chinese

. The speech-based applications we have produced are founded on an

architecture called Galaxy, which our group introduced five years ago. It is a
distributed architecture, which means that all the computing takes place on
remote servers. Galaxy can retrieve data from several different domains of
knowledge to answer a user’s query. The system can handle multiple users

simultaneously, and last but not least, it is mobile.

. Galaxy has five main functions: speech recognition, language understanding,

information retrieval, language generation and speech synthesis. When you ask
Galaxy a question, a server called Summit matches your spoken words to a
stored library of phonemes - the irreducible units of sound that make up words
in all languages. Then Summit generates a ranked list of candidate sentences-

the machine’s guesses at what you actually said.



4. At this point, Galaxy is ready to search for answers. A third server called
Genesis converts the semantic frame into a query formatted for the database
where the requested information lies. The system determines which database to
search by analyzing the user’s question. Once the information is retrieved, Tina

arranges the data into a new semantic frame.

a) Genesis then converts the frame into a sentence in the user’s language: “The
M.LT. Museum is located at 265 Massachusetts Avenue in Cambridge”.
Finally, a commercial speech synthesizer on yet another server turns the
sentence into spoken words.

b) These systems can answer queries almost in real-time—that is, just as
quickly as in a normal conversation between two people—when the delays
in downloading data from the Web are discounted.

¢) You can access Galaxy using only a phone, but if you also have an Internet
connection, you can tell the machine to download data to your computer.

d) Of course, several research problems still need to be addressed. We must
create speech-recognition applications that can handle many complex
domains of information. The systems must be able to draw data from
different information domains- the weather forcast information domain, for
example.

e) Tina then formats the question in a semantic frame, a series of commands
that tha system can understand. For example, if you asked, “Where is the
M.LT. Museum?” Tina would frame the question as the command “Locate

the museum named M.I.T. Museum.”

Task 2.
Read the article once and choose the best answer (A-D) for questions 1-4.
1. What are main disadvantages of communicating with computer through
conversational interface?
a) They are main disadvantages of communicating in German and Russian.
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b) The data they present is out-of-date.

c) They can speak to you on two things: weather prognosis and flight time-
tables.

d) They are too intelligent to speak to you on two things: weather forecasts

and flight schedules.

2. What kind of advantages can you have while using conversational interface?

a) The data you can get may be in one of tree most spoken in the world
languages; you can speak almost in real-time regime by phone and be
sure that all information is the latest.

b) You can communicate with the machine by phone in your first language
and be sure that all information is the latest and get answer as quickly as
in a normal conversation.

¢) You can communicate just as quickly as in an ordinary person-to-person
talk, speak any language you would like and use either phone or e-mail.

d) The machines developed are awfully smart, they present the latest news,
and speak American English, Spanish and Mandarin Chinese and can
answer your queries almost in real-time.

3. Which of three main Galaxy’s servers is used twice in the process of

fulfiling its functions?

a) Summit which generates a ranked list of candidate sentences after
matching your spoken words to a stored library of phonemes.

b) Tina which formats questions and answer into semantic frames, a series
of commands that the system can understand.

¢) Genesis which converts the frame into a sentence.

d) Tina and Genesis one of which applies basic grammatical heels to parse

the sentence and another which deals with databases.
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Task 3.
Match every word from column A to the appropriate word in Column B.

Render their meaning in Russian.

A B
So far To look for

To access (to) smth To manage; to deal with

To take place To reach smth
Finally Until now

To create To happen, to occur
To handle On conclusion

To search To make

Practice Module.

Task 1.
Read carefully the following passages and find all Complex Subject with the
Infinitive’

Constructions. (There should be 4 of them).

Task 2.
Make a precise translation. Write it down. It should take you no more than 10

min (I) and 12 min (II). Use English-Russian dictionary if necessary.
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GALAXY ARCHITECTURE is suggested to outline the tasks carried out by speech-
based applications such as the Voyager system. After a user poses a question, the
system generates a list of guesses at what the user said, then translates the best-guess
sentence into commands that are used to retrieve the information from a database.
The retrieved data are incorporated into a response sentence, and a speech synthesizer

turns the sentence into spoken words.

II.

The number of languages that the machine can understand is here to be increased. To
exploit the spoken language interface fully, the systems must be able to do more than
what has been just said- they must do what the speaker means. Ideally, tomorrows
speech-based interfaces are supposed to allow machines to grasp their users
intentions and respond in context. Such advanced systems do not seem to be available

for at a decade. But once they are
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I'epynnnii -

UNIT 5

Grammar Module |

HenndHas (opma riarosia, BBIpaKaroIias Ha3BaHWE ICHCTBUS U

06.]'[8,,[[3}01118,5[ KaK CBOMCTBaMH CYIICCTBUTCIILHOI'O, TaK H cBoMcTBaMH Tiarona. B

PYCCKOM A3BIKEC I'CPYHINA HCT.

B aHrnmiickoMm ke g3bIKe TepyHIUN BCTpedaeTcss oueHb 4acTo. OH JIErKO BXOJHUT B

COYCTaHUA C APYTUMHU CJIOBAMU, 06p33y51 CJIOKHBIC CJIOBA. HaanMep:

Housekeeping- momaminee xo3icTBO; A sitting-room — rocTUHas;

I'maronpHbBIE CBOMCTBA repyHAUS BBIPAXKAIOTCS

(dbopMbI BpeMEHU U 3aji0ra:

MMpexKAC BCECTO B TOM, YTO OH MMCCT

3anor | Active Passive Bripaxaer neiictBue
€HCTBUTEIIbHBIN CTpaJaTeNbHbIN

oy, | @@ ) | (crpas )

BpEMEH

Indefinite | Asking Being asked He cBs3zannHOe C ompenenEéHHbIM
BpPEMEHEM WK OJTHOBPEMECHHOE
NEHCTBUIO, BBIPAXKEHHOMY CKa3yeMbIM

Perfect Having asked Having been asked | [IpenmecTByromiee JEHCTBHIO,

BBIP2KEHHOMY CKa3yeMbIM

Kpome Hanmmuust BpEMEHH U 3aJ10Ta, FTepyHAUN UMEET €IIE ABA INIarojJbHbIX CBOMCTBA:

OH MOJKCT UMCTh IIPAMOC OOIOJIHCHUC N ONPCACIIATHCA HAPCUUCM. HaHpHMep:

I remember having told you this story before.

He likes walking quickly.

KakoBBI k€ CBOMCTBA repyHAMs Kak cyuiecTBuTenabHoro? Ilpexne Bcero, repyHauii,

KaKk M CYIICCTBHUTCIIBHOC,

MOXCT COUYCTATLCA C IIPCIJIOIroM H OIPCACIATHCA
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MNPUTAKATCIIbHBIM MCCTOMMCHHUCM WM CYHICCTBHUTCIIbHBIM B IMPHUTAKATCIbHOM

magacixe.

The chief insisted on our coming in time.

Kpome Toro, obmamas CBONMCTBaMHU CYIIECTBUTEIBHOTO, TEPYHIUN BBIMOIHIET B
OPEIOKEHUH CIAeAYIOUIe PYHKIINU:
1) Ioanexaiero:
Seeing 1s believing. VYBUIETh 3HAYUT [TOBEPUTH.

(seeing- mosexkaiiee)

l'epynauii, BBIMOMHSAIOMUN (PYHKIUIO TOJJIEKAIIET0, MOXET CTOSTh IOCIHe
ckazyemoro. B aTom cityuae nepej ckazyemMbIM CTOUT MECTOUMEHHE it.
Hanpuwmep:

It is (of) no use

It is useless Oecrose3Ho

It is good

It is worth- cTouT, nMeeT CMBICII.

2) HmeHHOU YacTu CKa3yeMoro:

To be + npuaratenbHOe
CYILIECTBUTEIBHOE
YUCIIUTETBHOE
Her aim was obtaining these data.
E€ 1enpo ObLI0 MOTyYeHUe ITUX JaHHBIX.
(obtaining-uMeHHas 4acTh CKa3yeMOro)
lepynauit MoxkeT ymoTpeOaaTbess B (PYHKIIMM HMMEHHOM YacTH CKa3yeMoro C

npeasioramu against, for, ¢ BepaxkeHusimu to be on the point, to be far from.
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3) be3 mpeniiecTByoLEro nNpeajiora TepyHIuid yaiie BCero ynoTpedssercs
KaK 9acTh COCTAaBHOT'O TJIarOJIbHOTO CKa3yeMoro:
C rnaronamMu, BeIpa)karoliMMHU Ha4yaja0, KOHEI[ U TPOJIOJKEHUE JEHCTBUS:

He began developing a new program.

The teacher told me to go on reading.

4) TlpstMmoro JOMOJIHEHUS MOCIIE IJ1aroJioB:
a) to enjoy, to like, to dislike, to hate, to mind, to intend, to prefer, to

require, to delay, to remember, to mention, to mean.

Do you mind sharing information with our business partners?

a) ¢ mpuiaraTeabHbIM Wworth (crosmuii) U busy (3aHsATBIN) + raro-

CcBs3Ka be

This compact disk is worth buying.
5) B dbyHKIMM npeasioxKHOTO KOCBEHHOTO JTOMOJHEHUSI TepyHAUN ynoTpeosieTcs

IMOCJIC TJIaroJjioB, MpujiaraTCjibHbIX U HpH‘IaCTHﬁ, Tpe6y}01u1/1x OIIPCACICHHBIX

PEIJIOTOB:
To be found of; to insist on;
To result in; to object to;
To be interested in; to get used to;
To be engaged in; to persist in;
To hear of; to be capable of;
To think of; to count on

Y HEKOTOPBIX IPYTHUX.

He was engaged in collaborating on particular projects.

6) B ¢yHkuumm omnpeneneHuss TrepyHOUMH dYalle BCEro YHNOTpeOasercs cC

npemyioramu of u for
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MOCTIE CYIIECTBUTEIbHBIX:

The typical extranet has the capability of allowing managers to restrict access
to various levels.
The trackball is a devise for controlling the movement of the cursor on the

Screen.

Opnnako, HaMMUKE TPEJyIora in Mocje CYIEeCTBUTENBHBIX experience, interest,
skill u mpemsora at mocne cioB astonishment, surprise, disappointment

YKa3bIBa€T HA TO, YTO QYHKUHUS FEPYHIUS — OIIPEACIICHNUE.

7) B pyHkuum o0crosiTenbCcTBA TepyHANN yoTpeOaseTcs:
a) C mpemyoramu on(upon), after, before, in 17151 BeIpaykeHHs BpEMEHHU:

Before suggesting his idea he weighed the pros and cous.

b) C npennoramu for, through, owing to n7st BeIpaskeHUsI IPUIUHBI:

Thank you for coming.

c¢) C mpeayiorom by 11s BeIpakeHHus 00pasa JeCTBHSL.
By adding the signals, the right channel cancels, and the left channel

alone appears.

d) C rpynnossimu nipeasioramu for the purpose of, with the object of, with
a view to
JUTS BRIPQ)KEHUS TISITH:
The third generation of robots possess far richer means for sensing, for
appraising
the situation and for processing information with a view to adopting a
decision and

carrying it out.
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e) C mpemnoramu without, in case of, in the event of, subject to (mpu

YCJIOBUU) AJISI BBIPAKEHUS YCIOBUSL:

Ot

repysiausa B

In case of working hard you’ll achieve much success.

OTriaaroapHOE CYHICCTBUTCIIBHOC.

dhopme

Indefinite

HE00X0IMMO

OTIIN4YaThb

CYHICCTBHUTCIILHOC, KOTOPOC TAKIKC OKAHYMUBACTCA HA- 1Ilg

O1Tinuus:

1. HanuMe apTUKI;

AN »n A~ WD

. He umeeT (OpM BpPEMEHH;
. HE IMEET MPSIMOTO JIOTIOJTHCHUS;

. HC BBIPpAXKACT 3aJ10ra.

. HAJINYKUC MHOKCCTBCHHOI'O YHCJIA,

. MOXXCT OIIPCACIATHCA MMpUjiaraTCJIbHbIM,

CpaBuenue ¢ynkiuit Participate I u Gerund.

YsieHbl npeyioKeHus Participate I Gerund

1. IHomnexaiee — +

2. JlonioaHeHue — +

(mpsAMO€ MM KOCBEHHOE)

3.Yactb pOCTOro | + —

CKa3yeMoro

4. Yactb COCTaBHOIO | — +

IJIaroJbHOTO CKa3yeMoro

5. Onpenenenue Cym + PI Cym + of +

ger

6. O0CTOATENBCTBO With\ coro3 + | [Ipemior  +

PI ger

OTTJIaroJIbHOC
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['epyHananbHbINA 000POT.

HpI/ITSDKaTCJ'IBHOC MCCTOMMCHHNEC WX CYHICCTBUTCIIBHOC B IPHUTSIKATCIBHOM WIHU

oOlIeM MajJiexe B COYETAHUU C TEPYHIMEM NPEICTaBIAIOT COOOM repyHIMaIbHBIN

o0opot. I'epyHauanbHbIi 000pPOT HA PYCCKUM SI3bIK TEPEBOJIUTCA MPHUAATOYHBIM

MPEITOKECHUEM.

Their being invited to take part in that project was good fortune.

Kpome Ttoro, repynmuii ortnuyaror ot npuuactus (Participate I) mo cremyrommm

MpU3HaKaM:

l.
2.

HaJIMYKE NIEepe] TEPYHAUEM IPEIIOra;
repesl repyHaueM MOXKET HaXOAUTHCSl OTHOCSIIEECS K HEMY CYLIECTBUTEIBHOE B

IMPUTAKATCIIBHOM ITaJICKC,

. aepea repyHaucM MOKCT HAXOAUTCA OTHOCAHMICCCA K HEMY MCCTOMMCHHUC B

IMPUTAKATCIbHOM ITaJICIKC,

HaJIM4IuUC nepeca repynaucM OTpULIATCIIbBHOIO MCCTOMMCHM.

Task 1.

48

Put the verbs in brackets in the appropriate gerund form.

. The capacity of the computer for (store, process and display) information has

been greatly enhanced.
The separation of transistors and other circuit elements is accomplished by

(introduce) rectifiers, which allow current to flow in only one direction.

. (Write) assembly-language programs is a long and painstaking process.

The task of (transform) the programs written on the higher-executable form is

accomplished by a program called a computer.



. Since the introduction of the first compiler most high-level programming

languages have been designed with the object of (make) it easier to express

algorithm fully while still generating efficient machine-language procedures.

. He mentioned (see) me at the exhibition yesterday.

6
7.
8
9

They continued (insist) on being innocent.

. The result of the experiment must be rechecked before (publish).

. I can’t remember (introduce) you before.

10.This job is not worth (table).

Task 2.

Define the functions of the Gerund in the following sentences. Translate the

sentences.

1. Measuring temperature is necessary in many experiments.
2. Getting better means changing.

3. The typical extranet has the capability of allowing managers to restrict access

to various levels.

4. The roots of any quadratic equation can be computed by simply plugging the

values A, B

and C info the formula:— -B+ V b”"2-44c¢
X

21

5. For human beings this formula serves as a sufficiently precise algorithms for

computing quadratic roots.

6. After having been examined by the examination commission, the student was

given a satisfactory mark.

7. The machine needs repairing.

8. Have you ever thought of joining our project?

49



Task 3.

Complete these sentences supplying the necessary prepositions and using
the gerund
of the necessary prepositions and using the gerund of the verbs in

brackets.

[E—

He was never good.... (play)....

I’m afraid I was mistaken.... (drive)....

In addition ... (study) grammar, he ....
We can’t depend ... (keep one’s promise).
She thought ... (enter the university).

The scientist persisted ... (try)....

Our team is ... (develop)....

Coming home late, I got used ... (go to bed) ...

A S AN L S

This man is being accused ... (sell)....

10.Our interest ... (write) ....

Task 4.

Find out how the following words are used with the infinitive, the gerund or
with both

of them — and use them in sentences.

a) Remember b) Effort
Mean chance
Go on temptation
Try order
Stop possibility
Sorry idea
Hate risk
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Be afraid (of) aim

Task 5.

Note the words which help you to define whether the word with the suffix —

Ingisa

Verbal Noun, a Gerund or a Participle.

. Our scientists succeeded in solving the important problem.
. The process of finding, locating and correcting errors is very difficult.

. In health — care organizations, extranets are being used to enable teams of care —

givers to collaborate on particular patients or projects.

. When improving the design the constructor made a lot of calculations.

. The use of a keypad and microprocessor permit ease of frequency entry without

having to set jumpers or switches, ensuring that the programmed frequency will
be correctly produced.

The readings of this device should be checked.

The usual pre- emphasis and deviation limiting must be provided for standard

mono transmissions.

Task 6.

AN AN oI e

Translate from Russian into English using gerund or gerundial construction.

[Tocne 3aBepiieHus SKCIEPUMEHTA OHU OOCYTUITH PE3YIIbTaThI.

MpbI 3aMHTEPECOBAHbI B UCIOJIb30BAaHUN UMEHHO 3TOU MPOTPAMMBI.

[TosryunB HOBBIEC TaHHBIE, KOMIIBIOTEP Hadall UX 00paboTKY.

Hert cmbicnia paboTaTh Haj CTaThEM MajbIIie.

3agaueid Balen rpyiibl ABISETCS UCCIEIOBAHUE TAHHOTO SIBJIICHUSI.

OH 70CTaTOYHO OIBITEH, YTOOBI PENIUTh MPOOJIEMYy TMOCTaBKH O0O0PYIOBaHUS
HaIllM apTHEPAM B CPOK.
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7. Ilpunas noMoi, s cpasy ke Hauall paboTaTh.
8. 'V Bac HET OCHOBAaHMSI TOBOPUTHh MHE TAKUE Y’KACHBIE BEIIIU.
9. Crout nu eme pa3 IpOBEPUTH OTUET?

10.PaboTa nporpamMmmMucTa OTHIOAb HE JETKas.

Reading Module I1.

I. Read and memorise the following terms and words of general use.

[—

. hardware- annapatHoe obecnieuenue (o0opynoBaHue);
software- mporpaMMHoO€ oOecIieueHue, MPOrpaMMHBIE CPEJICTBA;
browser- mporpamma mpocMoTpa, OKHO IPOCMOTA;

to surf- paGoTaTh ¢ 4eM- JIHOO;

to load- 3arpyxath, 3amOJIHATH;

to share- nenuTh, pa3aeisTh;

to track- cienuTh, MPOCIEKUBATH, BHICIIC)KUBATH;

aCCCSS- TOCTYII,

A S B AN

pertaining to- OTHOCUTENBHO, B OTHOIICHHH;

10.to collaborate- corpyiHUYaTh.

II. Warm-up

Try to answer these questions.
1. What is an extranet?
2. What is an intranet?

3. Can you think of their application in different spheres?

I11. Reading

A. Read the text and choose the best title for it.
1. Opening up with Extranet.
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2. What is an Extranet?

3. Do you really want to get better?

Text A
Getting better means changing, and not everyone wants to change. Laving the
familiar for the unknown is difficult. Change means fighting inertia. Change means
fighting entropy.

Perhaps that is why people are still reluctant to embrace extranets. Even though their
benefits are evident, and their downside is nonexistent.

What is an extranet, you ask? An extranet is the application of Web technologies to
inter-organization communications. Contrast it with an intranet: the same, but within
the walls of a single organization.

Much of the power of the World Wide Web comes from the fact that it is a
“platform” for computing applications that is independent of hardware— and, to a
large extent, of software. All you need is a current Web browser, and you can surf the
Web with the best of ‘em . You need not be concerned about having the “right”
software.

The typical extranet has ways to load and share all kinds of documents, such as text
files and CAD files; ways to track communications, such as requests for information
(Rfls); calendars; chat rooms; and the capability of allowing managers to restrict
access to various levels. You’ll want some documents to be entirely private, while
others may have “read/write” or “read-only”

Access for certain individuals or functions.

Extranets are most used in architecture, engineering, and construction (AES) as
“project webs”, where all documents and communications pertaining to a project go
through one Web-based “switch-board”. Everything is tracked, nothing gets lost, and
you’re always working from the most up-to-date stuff.

In manufacturing, extranets are used to share information with suppliers and
customers .

Law firms are now using extranets for communication about cases. So many cases
involve numerous witnesses and more numerous documents as well as meetings,
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filing dates, and other needs for coordination in time and space. An extranet is the
ideal place for them to be managed.

In health-care organizations, extranets are being used to enable teams of care-givers
to collaborate on particular patients or projects.

So if you see the power of extranets, and want to help other “get it” too.

B. Using the information in the, complete these statements.

1. An extranet is

2. An intranet is

3. The typical extranet has ways to , such as

4. It has also ways to , such as and the capability of
5. Some documents are , while others may have access for

certain individuals or functions.

Extranets are most used in at

In manufacturing, extranets are used

Law fiums are now using extranets for

o % =S

In health-care organizations, extranets are being used to

C. Match the words and expressions on the left with their explanations on the right.

1. browser a) means of entering; entrance

2. access b) the application of Web technologies to inter-organization
3. toload communications

4. to share c) to have or use suth with others

5. extranet d) a program designed to fetch and display Web pages on

the Internet

e) to read program instructions info the main memory.

D. Guess the meaning of these words in Russian.
1. computing applications
2. text file
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request for information
calendar
chat room

project web

A R

switch-board

IV. Practice Module

Text B

The manufacturing enterprise relies on a steady exchange of product and process
data between a manufacturer and its various partners. Of course, sharing such internal
information can be a tricky matter. How does a company make its internal data
conveniently accessible to outside parties and at the same time ensure that only their
approved partners can get to their data?

Many companies are answering their collaboration questions with an “extranet”. But
an extranet platform can make a variety of data formats viewable through the
ubiquitous Web browser, minimizing the software requirements on a company’s
partners.

The systems which manage extranets typically come equipped with security
measures to control who gets into the extranet. For example, the e-Vis solution from
Engineering Animation Inc. implements the Praesidum VirtualVault security
platform from Hewlett-Packard Co.

Security passwords can be administered for simple entry into an extranet.
Furthermore, companies can also designate specific sections which are accessible to
each partner. Thus, if multiple projects are maintained on an extranet, a company can
make sure that a specific party can access information for only its project and not the
others.

Finally, an extranet can limit the interactions that approved users can have with its
data. One user could be given the freedom to edit project data while another could

have only viewing privileges.
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Translate the text for a definite time period. (30-35 min) Use English-Russian

dictionary if necessary.
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